Kingdom Plantae

Why are plants important?

Take notes
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Characteristics of Plants

e All plants:

are multicellular eukaryotes
have cells with a cell wall and chloroplasts
are sessile

display an alternation of generations life cycle
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Bryophytes

Name the three types of bryophytes

Capsule
(A)
(B)
Seta—
(C)

Foot

What are the main limitations for bryophytes?

In what types of environments are you most likely to find bryophytes today?

Antheridium: Lifecycle of a Bryophyte
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The Evolution of the Sporophyte

What 2 key evolutionary adaptations did sporophytes develop that bryophyte gametophytes lacked?
(1)
(2)

Lycophytes and Pterophtes: The Ferns

Describe the 3 main parts of a fern sporophyte

sporophyte (2n)

Frond:
gametophyte (n)
Rhizome:
Sori:
PaRTS OF A FERN
Frond
The whole fern leaf; AXis - rachis
blade and stalk. The stalk within the blade.
Blade
Pinna - leaflet
Th ded, h =at
What are the main limitations for ferns? ieaef;:j;g?tnof the A grimary division of the blade.
rond.
Pinnule - subleaflet
. A division of the pinna.
Stalk - Stipe )
The stalk below ———— { E }—— Pinnules canbe
the blade. divided into lobes.

Rhizome
Root
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Fiddlehead (Crozler)

An uncurling frond.

What is the difference between a rhizoid and a root?

What is the advantage of fronds over gametophyte “leaves”?




Lifecycle of a Fern
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Gymnosperms: The Naked Seed Plants

What has happened to the gametophyte generation of
gymnosperms?

What is contained in a seed?

Pollen grains contain microscopic male
gametophytes that produce sperm

Pine cones contain structures called ovules.
Each ovule holds a tiny female gametophyte.

What is the advantage of seeds over spores?

What is the main limitation of gymnosperms? When an ovule is pollinated, it develops into
a seed




Angiosperms: The Flowering Plants
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Figure 38.1 Simplified overview of angiosperm life cycle

v

Petal

Stigma Sepals

Stamens
Style

_?*

\w

Ovary %
Floral tube
Sepal Ovule (in a)
(ll) A

(a) becomes seed (in b)

Anther at

Pollen tube

Ovary (base
of carpel)

Ovule

(female

gametophyte)

plant with

E
flowers o

Sperm

Gerrmnatmg

Copyright © Pearson Education, Inc., publishing as Benjamin Cummings.

Germinated pollen grain
(male gametophyte)
on stigma of carpel

tip of stamen

Embryo sac ==

E ‘r‘ X . !
%5 Q Seed §' 4
(develops
from ovule)

KEY TO LABELS
I:] Haploid (n)
[ ]oiploid (2n)

FERTILIZATION

S

Zygote \

E
(Snl;ggghvte)

| (develops from
| ovary)



What is the main difference between gymnosperm ovules and angiosperm ovules?

What is the main advantage for angiosperms of producing flowers?

Why does evolution favour fewer pollinating species over many for each species of plant?

Why do some angiosperms produce fruits or nuts?

Use your textbook to answer the following two questions:

What is a cotyledon?

Name the two main sub-groups of flowering plants

Sporophyte generation
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